MATHS

BOOKS - CHHAYA MATHS (BENGALLI)
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1. 936 APRI (furniture) SEOIIFD BT (BIF

3 (R 9% I 7B GIF 38 GRA 9350

P 7o @f¥F M; 8 M, J1dRId IR~ 6o


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_n3W68lBTrEKP
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o Watch Video Solution

2. 9HOH PIP PIADIL (GGl (sheep) 3 Bister

(goat) T IEA ABI6 (GO 8 AB6 BT WF


https://dl.doubtnut.com/l/_n3W68lBTrEKP
https://dl.doubtnut.com/l/_KAqRGR38NSvU

TATHE 150 BB 8 200 BIFT 4f6b (Eot 8 Bt
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o Watch Video Solution

3. dfo (@fa F; ATiT 6 95d febIfd A 8 7 93D

febiflA B @itz dfo @far F, 417 8 93


https://dl.doubtnut.com/l/_KAqRGR38NSvU
https://dl.doubtnut.com/l/_zolGZLxw8LSK

feBIfd~ A @2 8 12 93 febIfA B wite dfe
@S Fy 8 Fy Liid vl It 12 51t 20 Bidt
ADGH (TP mfAD LTmrd AfqTA S B 100
95d febIfd A a3 120 5P fSHIfFA B YIBT
e F, 8 F, 4wy ufo 6 @ @it
AT ST fSBIfEA AP @ TS SAGE
T @ MG @RS (ArSafafd STy g

Il

O Watch Video Solution



https://dl.doubtnut.com/l/_zolGZLxw8LSK

4. 90 GI-95AF (Frad 96 27 @ 4f6fb 937
YT FIFAEF A 9FIF L0714 5B B 9BI Uy

22 93P R C A1 4Mf 1 AP 1B F&AH 1

4T YT ASTT AT A% 12 4 AT dfo 95D

3TIH AB & C a7 afagia fArast dnag 1 792 99—

8 2 A2 YT UG 9fo 9P oI AT 3

BIdl 8 2 BIdI 96H4 @rtad Sumg fAdifde

AfAFIT LT (@SAIT TAod HIO A& NNIBD
WS (drsrfafy gt f511q 9Bt St

o Watch Video Solution



https://dl.doubtnut.com/l/_NdsGN3lvgG2p
https://dl.doubtnut.com/l/_lgilPJGw2oCA

5. a36 Afdde~ BT (transport company) a9

dI5 TUTSIT AB,CD 8 E WIfHT WIte A 8 B (@

GIEG AfeO IS 8 8 10 TG AR HI®C, D 3

E (U O[fE0 W 3fdmw sdsE 6,8, 4 6

AT dUSA 9H6 ABT (A @A HABOW

TG ((BETIfEGE) Ao BifeTdt Med 2 DI
A 8 B WIf:p0Id A1f3s3feT €, D 8 E A1diteT eifassfer

JAT0T 7dg Olifoed PIW ? 92 JPE ([QUD

arsiafafd STy 9B St

° Watch Video Solution



https://dl.doubtnut.com/l/_lgilPJGw2oCA

6. N6 O IBIA5d U6 a T FE -

—2z — 3y > — 12(z,y > 0)

° Watch Video Solution

7. GHINICR RIS MTS 3
2z + 3y > 6,2z + 3y < 6(z,y > 0)
ORI diITdd gl 8 e

22 + 3y =6 AJTWQYId @ @QIXT  gAF9Th

OEo Oid GAfaEe Iyt

° Watch Video Solution



https://dl.doubtnut.com/l/_ZtBhByek9sLp
https://dl.doubtnut.com/l/_Ilbthseag8uO

8 Oulifgfoq Saiy @48 & o6
S={(z,y):2> +y> <4} a6 Taa1 016

(convexset)

° Watch Video Solution

9. Sifafod SIRITTY R &
S, = {(z,y):z =0,y > 0} iEN
Sy = {(z,y):x >0,y =0} O wod sl
(union) 936 Tael 16 A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ilbthseag8uO
https://dl.doubtnut.com/l/_S122n0jxYw25
https://dl.doubtnut.com/l/_I22PQzA0uNht

10. TUfSTEd AT o AT PIABA
IR (M NEJ ) [A4T Bt

3x + 5y < 10

5z + 3y < 15

ARz, y > 0

o Watch Video Solution

1. @4forag Sy Sied @RS (@rsafafg

STETIod BIddd wBe fAdy St


https://dl.doubtnut.com/l/_I22PQzA0uNht
https://dl.doubtnut.com/l/_APFDa69wi5H6
https://dl.doubtnut.com/l/_Y6Z5KdOgXNuO

7 = 3z + 4y 53 I, TUF ALIEITST 27

3z + 2y < 18

ARz, y > 0

° Watch Video Solution

12. 64 OPTNIRdd 8fd @A FIdPT TBA
IE fBAT ©f (@Y forad STty »is

r+ 2y <4


https://dl.doubtnut.com/l/_Y6Z5KdOgXNuO
https://dl.doubtnut.com/l/_jzxJjvh10PoB

T+ 2y>6

z,y >0

° Watch Video Solution

13. @fotad TRy Al WIS (@tsiafafy
SETIGA THIGIN AT St Z = (32 + 4y) a7
T 537 QI

YA LIS 27 -

x—y>0

—z+3y<3

QR z,y >0

| e |


https://dl.doubtnut.com/l/_jzxJjvh10PoB
https://dl.doubtnut.com/l/_AyGIbLBRbrnS

& Wwatch Video Solution I

14. A7 WIS (@rsg f&afg st @fotag
ST TSI B -

Z = ( — 4z + 6y) -(P b I,

YA AGIEITST 27

—x+y<3

—z + 3y <15

QR z,y >0

° Watch Video Solution



https://dl.doubtnut.com/l/_AyGIbLBRbrnS
https://dl.doubtnut.com/l/_sQ86lQCRtnAM

15. A6 W@RIS (distafafy Tarifod @A TTigiA

IR fBAT ©f (7Y f5rad AU 1612 Fr:
Z = (2z + 3y) -(@ b3 I,

U It (5181 2

r+y=>1

2¢0 +1 <0

ARz, y > 0

o Watch Video Solution



https://dl.doubtnut.com/l/_xLyKIq1QF6Wy

16. N6 WIS (atsy f&fg sepmife @4fotag
STRITT LI BT

Z = (3z + 2y) -(@ ©IF 3,

YA LTS 2T

2 +y > 14

2z + 3y > 22

xT+Y>95

AR z,y > 0

o Watch Video Solution



https://dl.doubtnut.com/l/_6b7pVBQ6xRdH

17. 936 @IG3 FFODITD 12 HBIF @GS A 3 B
9B IE AP0 IILAT QT3 TIAMET TAY

SIS NI 48 To! BTt 300 AT 96 @GS A

IHO HJAO 2 TG 8 B §86 HJ(o 3 IHI A6

6o @fGs A f[Ife I ol B 30 BIFT 932 B

fifer B eI B 50 Bidl dfo AR AEIH 15 B
@fG3 A 932 10 Bl @fG3 B fdfe Fd(o BIT Fo
TP [fG8 A 8 BV MYTH [fG3 B BO Hdlel
Old &le 6 T of AIEg o @RS

arsirafafy sttt faoii@ gbr Bt

° Watch Video Solution



https://dl.doubtnut.com/l/_J1q6ZHmxalOq

18. 936 [IG3 FHODIID 2 JBIF [@G3 8 IFO
IR 9B6 YA @G TIAMAT ST NI

S 48 T6! BIST 20 AT BB [fG8 9856

IO 2 B 8 98O HJ(O 3 0T AT IHT ISt

dfefo @8 fafe I e I 30 it 972 [ e

P e B 50 BIdr dfe 3Bie <Gws 15 Bt
[@G3 a2 10 bl @fG3 [Afe o by aifgd favg
A% (corner point method) ST=ITIT TG4

ERIN RG]

o Watch Video Solution



https://dl.doubtnut.com/l/_v6qh6m2y0qoK
https://dl.doubtnut.com/l/_07Bl0kI4Pnxs

19. 11[% YUfA (mines) A 8 B &6 MFIT @G

afofma A Uf7 (ATH 1 DA THIINALT 3 DA TIIAI

3 5 B4 ARG &IBfdd(ore) @It 27 932 B

UAfF (AF dfe 9B 2 B HIBR[D (Ot 2T
51eRId bifanl 2e7 FIFABEE 80 B THIIAT, 160 BA
JLTIIAET 8 200 BA FAFIIAET wisfas gm d4fe

YUfATE WA SIS ST BIdT Y6 27 O MBI

bifent (@6ite do I v YA 7fo Fia 7= 2@

A ST 932 BISIG T FA© TA0d (16 U6
AT T 92 i @RS @iag fafg st
e g I AR Aifgd 7y dmfo giat

STITIGA TR AT Fat

I o Watch Video Solution ‘


https://dl.doubtnut.com/l/_07Bl0kI4Pnxs

20. 76 BWT A 8 B IAHE 100 3B 8 50

PRoleT XY UG BT WIIe Wo Iuy (D

foAl @I AP DE 8 F -9 X7 WIdIT PI(©
3 DE 8 F @4 MBI foAfbro IY@™ 60,50
432 40 POIA T WIS JulF (@ @ F
(AIBIA XY ASIIT UG6 A (BT My 2o

ST QAP @ WDREA D@ T S

SRR U6 oy o of AT B TAT 936
@RB (drsnafafa STt sH7 Bt 932 AT

Yo tad STRITT TSI Bt

| & |


https://dl.doubtnut.com/l/_07Bl0kI4Pnxs
https://dl.doubtnut.com/l/_Wj7Zm5MyI5f4

| ¥ Watch Video Solution |

1. 75& Tt A< Bt

ARIAT @RS @tsafafd T fars seadaial
IEERIGH

A. I8 2Tt

B. gJf STt

C. HATTS 7T QT BT YTt

D. SR


https://dl.doubtnut.com/l/_Wj7Zm5MyI5f4
https://dl.doubtnut.com/l/_NdkMjBYbuwZr

Answer: C

o Watch Video Solution

2. IM (@H QRIS Ersg [JQfg said [agare

SRR B T4 ORI 27 B[ TII6I ST

A. OPIERG SII4IA JET

B. BIADI STHILYIN (A

C. difa3d SIgI9IA e

D. (F1eT AJIIN 0T


https://dl.doubtnut.com/l/_NdkMjBYbuwZr
https://dl.doubtnut.com/l/_XqtmUuYH2Jtz

Answer: A

o Watch Video Solution

3. QB TBITId(infeasible) W@RIF (gtsrafafy
ST

A. 9B6 9FB I A<D

B. BIfI® ST LD

C. 9AIda AT ATTD

D. (PIF TATLIA TP AT


https://dl.doubtnut.com/l/_XqtmUuYH2Jtz
https://dl.doubtnut.com/l/_gHDz3OwaNxqD

Answer: D

o Watch Video Solution

4. (T QRIS (disnafafg STmd ornakE TFIgiA

A. NAT 2T

B. QBB dATaId IV LUt 37

C. 9B(6 HATTD IV 2Tl 37

D. BRI


https://dl.doubtnut.com/l/_gHDz3OwaNxqD
https://dl.doubtnut.com/l/_PrJo20EnPb0H

Answer: D

o Watch Video Solution

5. AT TS SH D PIHIB S2IBIar berssfer

A. OIIcTh OIS B

B. oW D

C. farpIdfafod sszsd

D. (B SRS H

Answer: D


https://dl.doubtnut.com/l/_PrJo20EnPb0H
https://dl.doubtnut.com/l/_riYr8REBlQmG

° Watch Video Solution

6. 91 1B 9BI6 (QRIB (AT ST
Z = (6z + 10y) -(® 539 D&

U JIGTITST 27

3z + by < 10

5r + 3y < 15

ARz, y > 0

STETTBd SifEd TIIYAT LTt

A 9d


https://dl.doubtnut.com/l/_riYr8REBlQmG
https://dl.doubtnut.com/l/_956eXMqFi8Kb

C. SPTIT eLUT<P (finite)

D. PR¥YT(infinite)

Answer: A

o Watch Video Solution

7. (I @RS (drsafafd STEmid @1 T A7

It gATard atet TG @ It 27

A. SIS ST

B. BIIPJ AII4IH


https://dl.doubtnut.com/l/_956eXMqFi8Kb
https://dl.doubtnut.com/l/_sxAEBYOHt72R

C. (T STIHIdIH

D. ad (BIHITB2 77

Answer: B

o Watch Video Solution

8. @A WG @isgfafg STH9IAd dddd
STHILIAT STt (I BRI STTIGIF a7 AfBg

ITP) 2@

A 9


https://dl.doubtnut.com/l/_sxAEBYOHt72R
https://dl.doubtnut.com/l/_LjrsggiTjVD1

B. PTIT HeYUTH

C. OP1Yy

D. 9d (BIHITB2 A7

Answer: C

o Watch Video Solution

9. (BIA (af<s (Atsafafd STITIg Mo TG

(relations) J14T (G OB ©f 261

A. OIqY Z = -59d (-2)


https://dl.doubtnut.com/l/_LjrsggiTjVD1
https://dl.doubtnut.com/l/_ZQ7KV07gcs2u

B.OIq¥ Z=-bdd Z

C. 9 Z =749 (-2)

D. 9d (BIHITB2 A7

Answer: A

o Watch Video Solution

10. 941 TiB (@17 (@B (s fafg sTamifo o
Z = (3z — y) (P 53 Wl

YA Al (ST T 22 + 3y > 1


https://dl.doubtnut.com/l/_ZQ7KV07gcs2u
https://dl.doubtnut.com/l/_loIOFATtYY0K

ARz, y > 0

STITIBd AifEd TIYiA 2ttt
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_loIOFATtYY0K

11. 471 TP (I QRIS (rsrafata ssasmifog

Z = 3x+4y - (P Ol I
U LTS 77

-2x+3y le 9

X-5y ge -20

dR x,yge O

QfRIB (rstafafq staoifod

A. 930 aBd gif3d TG (unique optimal

solution) HI(®


https://dl.doubtnut.com/l/_BptlmuepKWsd

B.fddg IYIA  (alternative  optimal
solution) &II®
C.936 ©PNgR%  SIEigA(unbounded
solution) 9@

D. 9d (BIHITB2 77

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BptlmuepKWsd

12. @I @RS @ity ST SIIPd B
R AT 26 (unbounded) STITBS -
A SPITY BIFHT TFIGIH (bounded feasible
solution) YITP
B. WP MHILMIA (unbounded solution) B
C.oPNT JITPT TGN 3 ©Pi  FAILIH
(bounded as well as unbounded feasible
solution) YTTH

D. aTid (HIAIB2 Y


https://dl.doubtnut.com/l/_kZfSCtkm7JVC

Answer: C

o Watch Video Solution

13. 41 TP (BIAT QRIS (esafafe swpmifc et
Z = (z + y) -( 5 Il

YA LIS 27

x+2y<4

x+2y>6

AR z,y >0

o STIIea


https://dl.doubtnut.com/l/_kZfSCtkm7JVC
https://dl.doubtnut.com/l/_40ea7sX9Ntm8

A 95D IIIPdI TIIGIH (unique feasible
solution) &II®

B. @PTRYT BITHJ HIGIN (infinite number of
feasible soluntion) &2

C. (P IIIRI AFIGA ({2

D. aid (BIAIBR 77

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_40ea7sX9Ntm8

14. QRIS (GIIfAfq Ty 72 erssrobs Qg
22 + 3y = 12 MBI TG 2

A. z, y 99 9316 I RS TR

B. 299 TiAT 539 FIA 932 y 99 O[T FiA

C. OP1Yy

D. 9d (BIHITB2 A7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d6Rhc0YB5Wm1
https://dl.doubtnut.com/l/_rZbUiGdrR4W1

15. AN64 emg f[Gfonfera @B faam?

A @ WS (diaafdfd Ty Jkeo
OGS IPdT 8 ePRIeIsfe
(@ITG @IS OEHD BT 3
OB A 27

B. (@IH WY® (disaffy Famiq [wae
TSI 539 I Oy FiN A8T o
AE DI difFH f[avgre

C. ADIfdD HIfFd THIYAREE @I @D

(dtsEfafd ST Ghra dfefc IFIgiA


https://dl.doubtnut.com/l/_rZbUiGdrR4W1

A9grald ST bd 59 I g J19
D. a6 WRIIII  (infeasible) W@RID

EreafAfd ST @BIAT PIdda ST

AT T AT

Answer: C

o Watch Video Solution

16. A7 awa [Yfosfag &b faLm ?


https://dl.doubtnut.com/l/_rZbUiGdrR4W1
https://dl.doubtnut.com/l/_HlGrAatpsub8

AT WRG  @Eaffd STnid epiakE

SHIIH (unbounded solution) YT ©IF

RIS AURH I T P (finite) 3T
B. I@IAT @RS (Aaaffd Toomitd o3y
TN Afg S STt It Ty A Ay
C.(@IH @RS @reaffy sy [egars
O[S Z 99 598 HiA AT A7 Somd
O (— Z) 1 o FiA (7467 Sa1g sraomt

QP2 I SI97 Il T


https://dl.doubtnut.com/l/_HlGrAatpsub8

D. N WRE (@aafafy s ado

PN IRE T AP S|

Answer: A

o Watch Video Solution

17. 7161 ema Yo 3feTq @RS o7

A (BIN S (daafafg s f[ggtare
RSP PGB SIHIq bersferg @< at

IPRICEC GRS Xl


https://dl.doubtnut.com/l/_HlGrAatpsub8
https://dl.doubtnut.com/l/_Q62clMK7LLsa

B. W% (arsffafy a5 shifdfes dwfo
st Sifye N IS Al
GRAMAL FATD! TGS Bl AT Al

c.Im @A @RS iaaffg s ufo
AIfEd STIYIN AND Ol oprYy difgd
STHILIA B

D.(dIH  WRId  (diafafg S
JESIBfeTe WIS TEedT

TS I

Answer: C


https://dl.doubtnut.com/l/_Q62clMK7LLsa

o Watch Video Solution

18. A7 ana fJfosfaa @IAfb oy

AW @A WS (raEify sy 1o
3D PIIDI MAILGIH (optimal feasible
solution) YTTH O GPYT SIfFD BT
AT YTH

B.@ AT WRS (disafafg S
Prgseddidt  voaraifInfd  (decision

variables) (T (SIAT JIBJ JIF 829 I


https://dl.doubtnut.com/l/_Q62clMK7LLsa
https://dl.doubtnut.com/l/_ZYhncZzs9lE5

CA @A T [EEE  anisd
(objective  function) Aa® SIRIGINS
(constraints) (@ @RIF (linear) WIBIE
AP BT I

D. %G PI&3 SrIBIdt 57 x 8 y RHT adf6
OIS DPD axtby+c (ab,c IABI &IP)

OB BT LT I

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYhncZzs9lE5
https://dl.doubtnut.com/l/_J12iDQgn3Qy3

19. NI(64 gwa Qo BfeTad @A fFATt

A 9Ifgd difdd fq9© (corner points)
RITAId DL Fi 5Jd T BT A0
Ad

B.@IH WIS (AiIfdfd Il IIIdd
B ABI6 Sl OT6

C.S={(z,y):2> +y° <4} 936 Taa

(16 (convex set)


https://dl.doubtnut.com/l/_J12iDQgn3Qy3

D. 930 RIS (@TSafafd STasmia @i Tt

NP MoK B I ol aifigs
PIABI  JIGIH (optional  feasible

solution) d(e1

Answer: D

o Watch Video Solution

N
N

20. fAT63 awa f[qfe Bfaa @IAfG

A


https://dl.doubtnut.com/l/_J12iDQgn3Qy3
https://dl.doubtnut.com/l/_2ZHq4w9sdgH6

A. IS STAIIH AT OB PIIPT ABA
et

B. 41 U1 aBI6 @fUP (ATsiafafe ST 2t
Z = (2z + 3y) (@ b3F Il
TUA JGIETST 27
3r +y <3
z,y >0

Z-4539 qI4 T 9

C.4dl TF aHfo @WRF (@rsafafa STamife

PIGE


https://dl.doubtnut.com/l/_2ZHq4w9sdgH6

Z = (bx — 2y) (@ OIqF Il
YA LIS 77

2z +3y > 1

z,y >0

2
Z- OIqd 14 2] ( — 5)

D. BIADP STHILIF 76 (D Tael G5 (e

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2ZHq4w9sdgH6

21. ©If6 % e Gaadd

¢l B (QRIB (AT fafe Tt 2,

Z = (2z + 3y)-(® b3F I,

U T (ST -

3x + vy < 3,

ARz > 0y > 0.

(@TYfotaq i@ (A8 @ WIS (@teafafy
Wﬁamﬁw(c or # rpjfs) (0, 0)

(1,0) a3 (0, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_sprmcyYIdQia
https://dl.doubtnut.com/l/_4EsLHeqnKAQw

22. 8O WRIS (draffy somftd aifdw
AL (optimalsolution) AT S@H 9@ Z 4

548 T fAg Sl

° Watch Video Solution

23. (JfYF Gty BIp AeT?

° Watch Video Solution

24, WiUS (ersfafad ufo I[kel(advanta > )

[Aqo ST


https://dl.doubtnut.com/l/_4EsLHeqnKAQw
https://dl.doubtnut.com/l/_aAXL6gq8rZWQ
https://dl.doubtnut.com/l/_Db8mltiW42Dl

° Watch Video Solution

25. 936 WS (diaaRkfag o Siamoet

( lim itation) STAY KT

o Watch Video Solution

26, fAgfaie WIS (@Effaa STaomifoa
LTSI BTG (@LUoa BiEA !l
Z = 2(z1 + 222)- (S 537 I,

T T (SITST 2T


https://dl.doubtnut.com/l/_Db8mltiW42Dl
https://dl.doubtnut.com/l/_FfnfahQl527n
https://dl.doubtnut.com/l/_WC2OMQGjxEba

2¢1 + 2 < 2,
3xl + 422 > 12,

xzl,z1 > 0.

o Watch Video Solution

27. 9919 SEI T 642 909 gug &Y drsafafy

(feasib < solution) AR

o Watch Video Solution



https://dl.doubtnut.com/l/_WC2OMQGjxEba
https://dl.doubtnut.com/l/_4tuu4IVDf1SD

28. Albd WUF (arsiafafy seomifog  difssd
ﬁlﬁ%ﬁf (c or # rpj{s) g e,

Z = (2z + 5y)-(@ 539 IA,

T TLTGITST 2T

r+y < 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_qTAG45yhzzUA

29. (T4forad I ANGT  WPAIPIISITT
PIIPd ABA( feasib < — region) (IM ©IF
aIfEg D) fAef St

r<2y<3zr+y>1a9Rz,y > 0.

o Watch Video Solution

30. AIod WRIS (emaffa seomifea aifEs
[CRIG] (c or #* rp]fs) Ay St

Z = x + 2y-(® 5 I,

T T SISt 27


https://dl.doubtnut.com/l/_aQdJ5SnmQzQI
https://dl.doubtnut.com/l/_nPzV2pSQIBKN

3z + by < 10,
br + 3y < 15,

z,y > 0.

o Watch Video Solution

31. 5% % Saaelt

APSH I FBODIGD BIR 38 GfReT g8o
PW| ©IF IR 400 @EPH6 @F2MIfT S TGO
Oie 932 450 HI-IBIT IS BT Jol ATD
oIz 96 (BIK (07 FIO 5 [@EHD DS 3 10
GBI eIt 9B (BT (o FATO 20 QISP B


https://dl.doubtnut.com/l/_nPzV2pSQIBKN
https://dl.doubtnut.com/l/_3oMlhlBZySpr

3 15 AdF-gaof eritstiafe ©gid fife @ 45 Bt

a3 GRd [dfe @ of die B 80 BIbT Fo
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